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A) Package selection justification

There may be a lot of different reasons why the firm decided to go with these two packages. Here is what we feel are the reasons.


Package A

The package A may have been selected because it allows the shareholders to keep the same proportion of ownership in the company, in opposition with a new Public Offer. Then, the control of the company remains in the same old hands.

It can also have been selected in order to keep the capital structure of the firm unchanged. That is, the new project would be financed at 62% by equity, and therefore 38% is by debt issuance, compared to an actual 61% financed by equity. This is a good strategy if the firm estimates its structure to be already optimal and the new project to hold the same risk that the old company’s projects. Therefore, the main reason to choose the Package A would be to keep things unchanged, whether we are talking about the owners or the gearing (this is without taking in account the increase in retained earnings, as we will see later).

Package B

This package must have been chosen because of the big place it gives to debt capital, allowing the overall financial structure to adjust in favour of more gearing. Indeed, it allows the firm to dilute the equity portion into more debt, in opposition to the Package A wish. The package B is financed at 71% by debt. The other portion is financed by a decrease in dividend by £30mn in 2001. The total amount required under the Package B is £105mn, which is less that Package A. The cost of capital of MCP must be decreasing with this new structure, and this must be the main reason of its choice. With the Package B, the company is then saying that there is room for amelioration in the structure. The package must have been selected in accordance with the fact that the retained earnings of the company will increase in order to raise the equity portion of the structure, whatever happens to the choice of financial structure for the new project. A good advantage of Package B is to allow the company to benefit from tax shield, decreasing by the way its cost, even more than before with a not-enough-geared structure. Here again, we can assume the fact that the firm wants to recalibrate its structure over the structure of its industry. This would be a good reason to use such a package. Since we have no indication about the industry MCP is working in, it is difficult to evaluate it.

We can see by looking at the two different packages that the goals are not the same with the two structures. The first one seems more stable, but the second offers a cheaper option.

B) Analysis of the packages

We start our analysis of the two proposed packages by looking at the effects each of them would have on the company. To do so, we first have to compute certain data in order to identify the economical world around MCP, inasmuch as stating certain assumption we had to make before to allow ourselves to go further in our investigation. All the way of our analysis, we assume there is no cost to proceed each package, such the rights issuance fees, etc.

1- calculation of the expected rate of earnings’ growth

We know the growth rate for the next year, expected to be 5%. We however have to get a specific rate for the second year. This is achieved by computing the weighted average of growth of earnings for each state of the economy in year two.

E[Growth] = [ ( pi x gj ]

Earnings growth in 2002


Probability
Growth
pi x gj

Buoyant economy
10%
40%
4.00%

Solid growth
40%
25%
10.00%

Moderate growth
30%
15%
4.50%

Slower growth
10%
5%
0.50%

Recession
10%
-10%
-1.00%






Expected growth rate


18.00%

For more details about the impact of a change in the economical growth rate, we could have done a sensitivity analysis, which was not required in the present case.

2- The total process from the financing

We now try to see how much money is going to be raised by each of the packages.

Package A processes

A  Actual price of one share
£2.50

B  Discount on right issue
20%

C  Price paid per new share issued (A x B)
£2.00




D  Number of shares actually outstanding
      200,000,000 

E  Number of right per share
                 0.20 

F  New shares possibly issued (D x E)
       40,000,000 




G  Gross Process of Right issue (F x C)
 £     80,000,000 




H  Gross Process from debenture issue
 £     50,000,000 




 I  Total process from package A (G + H)
 £   130,000,000 

As stated, we will issue one new share for each five share already issued, which gives 40mn new shares. Since each actual share is traded at £2.50, and the right gives a discount of 20%, we now pay £2.00 per new share, with a total process of £80mn.

Package B processes

Gross process from debenture issuance
 £     75,000,000 

Cash not spent by reducing dividend
 £     30,000,000 

Total process from package B
 £   105,000,000 

The Package B is easier to compute, with only one source of potential problem for us to evaluate. That is, we don’t know for sure if the company wants to receive £75mn in cash from the debenture issue or if it wants to issue for £75mn of nominal value of debenture. We assume, in our analysis, that the first option is chosen, so they will receive £75mn from debenture issuance.

As we can see with these two tables, the Package A is going to raise £25mn more than B to finance the new project.  However, if the later has been chosen as a valuable package by the management, we must assume that £105mn was enough to realise the project. The result of the Package A is to increase the number of share to 240mn (200mn + 40mn) worth £60mn (240mn x 25p/share) plus a share issuance premium of £70mn. Since we increase the number of share, we can assume that it will reduce the percentage return of the new project by diluting the expected profits over a greater than needed amount of capital (shares and debt).

3- The annual cash flows of each package

We must now see what impact each package would have on the firm’s cash flows and profits in the next two years. If we assume that the dividend paid on the ordinary shares is a fixed proportion of the earnings after tax and preferred dividend of 40% (£50.5mn/£126.3mn), the cash flows are not influenced by the amount of shares issued at all. It would be different if we declared a fixed dividend of 25p per share (£50.5mn/200mn shares).

Nominal value versus Market value

Then comes the time to estimates the cash flows from the debentures issued by MCP. A critical approach would have been to evaluate carefully the price the market would have given to the debenture. That is so because we know the old 9% debenture is not trading at par, therefore we can clearly see that the market is looking for a higher return that 9% for debt issued by MCP. We will not do so, however, and instead assume the new debenture will be issued at par (£100). We include the expected return wanted by the market on the MCP’s debt by calculating the internal rate of return of the market (IRR). This figure is shown in the preceding table, in case the reader would like to evaluate a real value of the debentures on the market.

Package A

Now that we know we issue the new debenture at par, it is easy to calculate the interest charge associated with it.

Package A Interest Cash flows

A  Amount required in debenture
 £     50,000,000 

B  Coupon rate
10%

C  Interest per year (A x B)
 £      5,000,000 

We see that the results of the Package A to the cash flows represents an increase of more than £5mn per year in payments, if the earnings were to stay fixed at the actual value. This however, is not true since we adjust the dividend to the earnings, and they are expected to grow in the next two years, by a value that we will state later.

Package B

Added to the decrease in ordinary shares’ dividend in 2001 by £30mn, the Package B includes an issue of £75mn new 9% debenture. As we assumed earlier, the new debentures will be issued at par (£100). This being said, we get a new interest payment of £6.75mn a year.

Package B Interest Cash flows

A  Amount required in debenture
 £     75,000,000 

B  Coupon rate
9%

C  Interest per year (A x B)
 £       6,750,000 

This is the only different cash outflow, since the only other method of financing under the Package B is the reduction in dividend by £30mn.

4- The new financial statements

For each package, let’s see what the financial statements will look like in the next two years, after the project has been fully felt in the results of MCP.

The partial balance sheets shown on page 12 give us an estimated picture summarising the way each package finances the new project. Note the fact that only the Reserve account is changing from 2001 to 2002. This is of course because we add the value of the non-distributed profits each year. Nothing else moves since there is no other project expected now, nor a repayment of debt. After each balance sheet, we distribute each line of the balance sheet as a debt or equity element. This is helpful in order to evaluate the gearing, for instance.

The partial Profit and Loss account shown on page 13 gives the expected profits for the next two years for each package. These profits are of course influenced by the amount of interest to pay (i.e. the book value of the debt). The other difference between both packages is the amount of dividend paid on the ordinary shares. This dividend depends on the value of earnings after interest and taxes (EAIT), once deduced the dividend for the preference shares. We stated that this value was linked on a fixed rate (40%) multiplied by the EAIT value. The difference is also explained by the decrease in ordinary shares dividend for the Package B.

5- The analysis of the packages

If we take again the last values of the Partial Profit and Loss account page, we can finally see what is going to happen to the company for each package proposed.

Dividend per ordinary share

2000
2001
2002

Package A

 £                0.25 
 £                0.22 
 £                0.26 

Package B

 £                0.25 
 £                0.11 
 £                0.31 

At first sight, under this criterion, we see a strong advantage for the Package A in 2001, and this advantage is reversed in 2002. When we analyse however the reason of this difference, we then remember the £30mn cut in the 2001’ dividend. Moreover, the difference between the two packages is only £0.06 over a two years period. This is the only reason why the dividend is smaller in 2001, as we can see in the following table showing the earnings per share under each package.

Earnings per shares

2000
2001
2002

Package A

 £                0.63 
 £                0.54 
 £                0.65 

Package B

 £                0.63 
 £                0.64 
 £                0.78 

This is obvious now that the Package B looks better all the way under a shareholder point of view, the potential return is greater with B. Of course, if the return is potentially higher, it means that it’s more risky, and that it costs more to MCP as a cost of capital! The difference between earnings per shares for A and B increases in 2002, going from 10p to 13p.

The concept of risk is also clearly present in the gearing calculations. As we see in the following table, the Package A lets the company much less geared, that is, less risky, giving it a better chance to be able to finance at a lower cost in the future.

Gearing

2000
2001
2002

Package A

62.86%
48.07%
37.50%

Package B

62.86%
65.57%
49.31%

We see with the last table that the Package A shows a continual decrease in its gearing, thanks to the structure chosen and to the interesting earnings. The Package B decreases however at its turn in 2002, when the retained earnings swallow the increase in debt. The small increase in gearing in 2001 is explained by the fact that the increase in debt (68%) from 2000 to 2001 is greater than the increase in equity (61%). The situation changes in 2002 since there is no new debt issued, but the retained earnings from 2002 are added.

We highlighted earlier the difference in the value of the two packages. This is of a great importance because of the impact it can have on the return of the shareholders. That is, the company shouldn’t raise more money that it needs. Not doing so results in an inefficient use of capital raised, and then to a decrease in the return on investment (ROI).

It is very difficult to determine which package is better for MPC, since there is a lot of information missing. For instance, we don’t know the sector of activity of MCP, we don’t know the tendency of the markets, the historical data of MCP…

What we know is that the earnings per share give B winner and the gearing gives A winner. The dividend per share is hard to distribute, and so we keep it in the odd part.

6- Summary of the assumptions made

Just to give a clear view on the sum of the assumption we made in order to get the actual results, we show here the summary of all the assumptions contained all over the B) section.

· The interest on the floating rate debentures issued will not change in the two next years

· The risk of the new project is the same that the whole company’s risk

· The dividend to be paid is a fixed percentage of earnings after preferred dividend is paid, at 40% (based on the 2000’ data disclosed)

· The new 9% convertible debenture of the Package B is issued at par (£100 per debenture)

· The new 10% debenture of the Package A is issued at par (£100 per debenture)

· There is no issuance fees associated with any type of financing tool

MCP plc Partial Balance Sheet - Package A


2000
2001
2002

Ordinary Shares 25p p.v. - 200mn in 00, 240 after
   50,000,000 
   60,000,000 
   60,000,000 

Share issuance Premium
                -   
   70,000,000 
   70,000,000 

8% Pref Shares (£1 par value) 40mn
   40,000,000 
   40,000,000 
   40,000,000 

9% debenture stock 2010 - 400,000
   40,000,000 
   40,000,000 
   40,000,000 

10% debenture 2010 - 500,000
                -   
   50,000,000 
   50,000,000 

Floating rate term loan (maturing in 2005)
   30,000,000 
   30,000,000 
   30,000,000 

Reserve account
 125,000,000 
 202,880,000 
 296,636,000 


 285,000,000 
 492,880,000 
 586,636,000 











Equity




Ordinary Shares 25p p.v. - 200mn in 00, 240 after
   50,000,000 
   60,000,000 
   60,000,000 

Share issuance Premium
                -   
   70,000,000 
   70,000,000 

Reserve account
 125,000,000 
 202,880,000 
 296,636,000 

Total Equity
 175,000,000 
 332,880,000 
 426,636,000 






Debt




8% Pref Shares (£1 par value) 40mn
   40,000,000 
   40,000,000 
   40,000,000 

9% debenture stock 2010 – 400,000
   40,000,000 
   40,000,000 
   40,000,000 

10% debenture 2010 - 500,000
                -   
   50,000,000 
   50,000,000 

Floating rate term loan (maturing in 2005)
   30,000,000 
   30,000,000 
   30,000,000 

Total Debt
 110,000,000 
 160,000,000 
 160,000,000 









































MCP plc Partial Balance Sheet - Package B


2000
2001
2002

Ordinary Shares 25p p.v. - 200mn
   50,000,000 
   50,000,000 
   50,000,000 

8% Pref Shares (£1 par value) 40mn
   40,000,000 
   40,000,000 
   40,000,000 

9% debenture stock 2010 - 400,000
   40,000,000 
   40,000,000 
   40,000,000 

9% convertible debenture 2010 - 750,000
                -   
   75,000,000 
   75,000,000 

Floating rate term loan (maturing in 2005)
   30,000,000 
   30,000,000 
   30,000,000 

Reserve account
 125,000,000 
 232,145,000 
 325,166,000 


 285,000,000 
 467,145,000 
 560,166,000 






Equity




Ordinary Shares 25p p.v. - 200mn in 00, 240 after
   50,000,000 
   50,000,000 
   50,000,000 

Reserve account
 125,000,000 
 232,145,000 
 325,166,000 

Total Equity
 175,000,000 
 282,145,000 
 375,166,000 






Debt




8% Pref Shares (£1 par value) 40mn
   40,000,000 
   40,000,000 
   40,000,000 

9% debenture stock 2010 - 400,000
   40,000,000 
   40,000,000 
   40,000,000 

9% convertible debenture 2010 - 750,000
                -   
   75,000,000 
   75,000,000 

Floating rate term loan (maturing in 2005)
   30,000,000 
   30,000,000 
   30,000,000 

Total Debt
 110,000,000 
 185,000,000 
 185,000,000 

MCP plc Partial Profit and Loss Account - Package A









2000
2001
2002







Growth rate

-
5.00%
18.00%

Earnings before interest and tax

       200,000,000 
       210,000,000 
       247,800,000 

Interest

         15,000,000 
         20,000,000 
         20,000,000 







Taxable income

       185,000,000 
       190,000,000 
       227,800,000 

Taxation at 30%

         55,500,000 
         57,000,000 
         68,340,000 

Earnings after int and tax

       129,500,000 
       133,000,000 
       159,460,000 







Preference dividend

           3,200,000 
           3,200,000 
           3,200,000 

Ordinary dividend
40%
         50,500,000 
         51,920,000 
         62,504,000 







Retained Earnings

         75,800,000 
         77,880,000 
         93,756,000 







Dividend per ordinary share

 £                0.25 
 £                0.22 
 £                0.26 

Earning per share

 £                0.63 
 £                0.54 
 £                0.65 

Debt (£mn)

       110,000,000 
       160,000,000 
       160,000,000 

Equity (£mn)

       175,000,000 
       332,880,000 
       426,636,000 

Debt/Equity

62.86%
48.07%
37.50%























































MCP plc Partial Profit and Loss Account - Package B









2000
2001
2002







Growth rate

-
5.00%
18.00%

Earnings before interest and tax

       200,000,000 
       210,000,000 
       247,800,000 

Interest

         15,000,000 
         21,750,000 
         21,750,000 







Taxable income

       185,000,000 
       188,250,000 
       226,050,000 

Taxation at 30%

         55,500,000 
         56,475,000 
         67,815,000 

Earnings after int and tax

       129,500,000 
       131,775,000 
       158,235,000 







Preference dividend

           3,200,000 
           3,200,000 
           3,200,000 

Ordinary dividend
40%
         50,500,000 
         21,430,000 
         62,014,000 







Retained Earnings

         75,800,000 
       107,145,000 
         93,021,000 







Dividend per ordinary share

 £                0.25 
 £                0.11 
 £                0.31 

Earning per share

 £                0.63 
 £                0.64 
 £                0.78 

Debt (£mn)

       110,000,000 
       185,000,000 
       185,000,000 

Equity (£mn)

       175,000,000 
       282,145,000 
       375,166,000 

Debt/Equity

62.86%
65.57%
49.31%

C) Future planned expansions

Many different factors must be taken in account when comes the important time to develop a structure to finance future planned expansions. We aim here to develop some of them.

The market reaction

The first factor we want to develop is the importance of the market reaction. That is, a company that wants to raise new funds must make sure the market will approve the move. For example, when the board of a company suggest reducing dividend on the shares issued, what the market is going to do? We know the investors all have different investment horizon and reason to hold a share (Clientele effect), therefore it’s possible that some of them just lose confidence in a short term and sell, reducing the price of the shares, and increasing the cost of equity.

Let’s picture it with a practical example. In early December 1999, the Canadian company TransCanada PipeLines Limited announced its intention to reduce its dividend per share from $1.12CDN to $0.80CDN
. The result on the share’s price was drastic: it fell sharply, as we see in the following graph, in the first period from the left. This is so because the company failed to give a good reason to this decrease, letting the market without any explanation.

An other reason of this particular decrease is that this company was considered as a revenue stock, therefore all investors buying because of the interesting dividend offered just sold, since it didn’t correspond anymore to their need! This is then an important issue to see if the market would agree with our plans. If it doesn’t, like with TransCanada PipeLines, during a period where the company is also looking for new share issue, the cost of capital risks to increase significantly.

The capital structure of the industry

A basis of the corporate finance science is to compare a company with its industry. This is, indeed, a good method to compare the company with its peers. One of the points analysed by this financial work is of course the capital structure. The analysts evaluate the company’s position relatively to the average value of the industry. This is seen as an optimal structure for this particular industry, which should be aimed by every company in the sector. We can’t go further in the analysis of MCP plc optimal structure of capital since we don’t know which industry it’s part of. But we can give the example of an internet start-up, for whom it may be very difficult, if not impossible, to raise debt capital, given the big uncertainty over its capacity to pay back.

The market tendency

The time where the plain vanilla (a regular series of coupons paid and a face value given back at the end of the term) was the only way to finance a project is definitely over. Now, we see a new tendency showing up in the debt financing. Debentures where the coupon rate is linked to the price index to protect against the inflation, floating rate coupon linked to the libor rate, convertible debentures, warrant attached to the debenture, the fashion is to create new type of financing answering perfectly to the needs and situation of the issuer. A very exotic way to finance a future project for MCP could be the issue of a debenture where a portion of the coupon is linked to the performance of a stock index from the MCP’ industry. That is, MCP should finance its projects in accordance with the market needs of financial securities and the particular needs of MCP.

We also face a new type of financing, which are the venture capitalist companies. They argue that the venture capital backed companies’ sales increased twice faster that the FTSE100 companies
. Would it be a good way to ensure a good management of a company?

Another tendency is the international funding of a company. Billions of dollars are coming from the USA to invest in Europe, as a way for big funds managers to divert their risk
. Among it, there is a collateralised loan obligation (CDO) packaging the risks components separately.

Having said so, we must however go back to the corporate finance’s basic and state that the only really important factor MCP plc must considerate while planning a new project financing round, is the maximisation of the shareholders value, on the long run. This gives place to an analysis of the cost of capital, the market expectation, the industry standard and the financial theories.

The IRR calculation:





P = ( [Ci/(1+IRR)n] + FV/(1+IRR)n





85 = 9 [1 – (1+IRR)-10] / IRR + [100/(1+IRR)10]





IRR = 11.61%





Proportion of equity over total capital


Actual: £175mn / £285mn = 61%


Package A: £80mn / £130mn = 62%





Proportion of equity over total capital


Actual: £110mn / £285mn = 61%


Package B: £30mn / £105mn = 29%
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� See the press release in appendix


� See the British Venture Capital Association “key facts” in the appendix


� See the Financial Times paper “LEVERAGED FINANCE: Cross-border flows rise” in the appendix





